DMV—4 4 2 Remote ffilfEiZEHT
1.Protocol

RS-232C #EJlYRS-485 (Half Duplex) &L

Start Bit 1

Stop Bit 1

Data Bit 8

Parity Even

Data Rate 9600 bit per second
Code ASCII

Terminate CRLF

2.Write command
<N T E=2—"T (DMV-442) 73 Menu #F~ L TWAIKEE T~ REZIIFITERAL
MENU+CR,LF| ZiKL %7,

2-1. Answer
[GO+CR,LF] IEHEE, ERFAT
[GN+CR,LF] EH5A5CTH 57 MODE H3E ) 729057 L7220
[E 0+CR,LF] Framing error
E 1+CR,LF] Parity error
[E 2+CR,LF] Overrun error
[E 3+CR,LF| Command error
'ME NU+CR,LF} Menu k&
L OCK+CR,LF] Lock }RAE
AL ARM+CR,LF) Alarm fKfE

2-2.Command

2-2-1. TCO 1+CR.LF] ~ IC0 4+CR,LF] (Camerach.1~4)
HATDF v F) No. 1 ~4 Z 3R L £,
Alarm JREEDWREZ, ZDa< 2 REZITET L Alarm WREEZFEHIER L £,
{H.L ALARM MODE O#%ED [EXT. 1 o841 IGN+CRLF| A3k Uiz U EH A,
Lock JREEDHHZ, Do~ FaZTE 4L TLOCK+CRLF| ZiKL o~y RE3TLEHA,

2-2-2. [CAS+CR,LF] (Camera Auto Sequence)
F— R = U ADT A TR IR L FT,
Alarm JREEDHEZ, Z Do~ K& £9° & Alarm IREEATRGIER L £5,
{H.L ALARM MODE O%EN [EXT. ] O8A1E [GN+CR,LF) %R UigiilfiElsz L £t A,
Lock IREEDHHZ, ZDa~r F&%ZitEd & [LOCK+CRLF] ZiKLa~> REFETLERTA,

2-2-3. [CQ1+CR,LF] (Camera 4 %))
T AT D AGERm AR L E T,
Alarm JREEDWREZ, Z D o< REZITET L Alarm WREEZFEHIER L £,
{H.L ALARM MODE O#%ED [EXT. ] o841 IGN+CRLF| A3k Uiz L EH A,
Lock JREEDHHZ, Do~ FaZTE 4L TLOCK+CRLF| ZiKL o~y REFTLEHA,



3.Read command

3-1. 75 Answer

'E 0+CR,LF| Framing error
'E 1+CR,LF] Parity error

[E 2+CR,LF] Overrun error
[E 3+CR,LF Command Error

3-2.Command

3-2-1. [RM+CR,LF] (Read Mode)
DMV-442 OBHEDIRAEZ K L F 7,
[CAS+CR,LF] Fd—~—4 o ATEWED
'[CQ1+CR,LF] 4
[CO1+CRLF] ~ C04+CRLF] # 27 ch.
A0 1+CRLF] ~ A0 4+CRLF] Alarm {#£ ch.
'MENU+CR,LF| Menu FE/RH

4.71EE
Command OFT L [RIRHZ DMV-442 D7 1 s AL v F A EAESNET L3 -7- Answer &
Wz EnHY ET,
Command D3 T238KETIT 9 555 100mseconds. VA FOREZ HIFTF VY,

RS-485 T HDHEE Command DFEFHIZ Slave Address D& 52T £,
Answer Back OFeHEIZ E Slave Address DFSHMT& £9,



ASCII Code % (1 61£)

SPACE 020H a 06 1H A 0CoH
b 062H A 0C1H
: 03 AH c 06 3H P4 oCczH
< 03CH d 064H 7 0C3H
> O03EH e 06 5H h 0C4H
- 02BH f 06 6H
. O02EH g 06 7H 7 0CoH
/ 02FH h 06 8H = 0OC6H
i 06 9H X 0CT7H
0 030H i 06 AH = oCcs8H
1 031H k 06BH J/ 0C9H
2 032H 1 06CH
3 033H m 06DH a O0CAH
4 034H n O6EH = 0CBH
B} 03oH o 06 FH 7 0CCH
6 036H p 070H o~ 0CDH
7 037H q 071H AN OCEH
8 038H r 072H
9 039H S 073H ~ OCFH
t 074H 3 O0DOH
A 041H u 075H VA O0D1H
B 042H v 076H A 0Db2H
C 043H W 077H £ 0D3H
D 044H p: 078H
E 045H v 079H Y 0D4H
F 046H z 07AH A OA8H
G 047H = 0D5H
H 048H 7 0B1H - O0AAH
I 049H A 0B2Z2H = 0Dbo6H
J 04AH v 0B3H
K 04BH T 0B4H 7 O0D7H
L 04CH 7 0BoH ) O0D8H
M 04DH % OD9H
N 04EH ) 0B6H % O0DAH
O 04FH * 0B7H = O0DBH
P 050H 7 0B38H
Q 051H va 0BY9H 1% 0DCH
R 052H = O0BAH N ODDH
S 053H P4 OATFH
T 054H A O0BBH Y OACH
U 055H v 0BCH o OADH
\% 056H A 0BDH E| OAEH
W 057H T OBEH 7 OA7TH
X 058H Y OBFH o OABH
Y 059H ) ODEH
zZ 05AH ’ ODFH



